B203 Exer cise Sheet 7

Costas Meghir

1. Findthe criticd vduesfor the F digtribution for 5% tests for the following cases.

a

Two redrictions to be tested , 28 observations, 8 Regressors (and a
congtant) in the unrestricted modd.

Four redrictions to be tested , 16 observations, 6 Regressors (and a
congtant) in the unrestricted mode!.

Repeat the above for the case where you have a large sample of
observations.

2. Condder the following regresson mode

Y, =a+b X;; +b,X;, +b,X;; +b, X;, +b X5+,

a. Write the redricted verson of the modd under the hypothess that the

coefficients on the first two regressors sum to 1 and the coefficients on the
last two regressors sum to zero.

If you were to test this hypothess with 1500 observations what test
procedure would you use and what would be the critica vaue you would
use?

3. Use the psxobh.dta data set to test the hypothess that growth of wages is
quadratic in age againg the dternative that it is best moddled as a fourth order
polynomid in the BHPS. Do this for men and women and for two education
groups separately: Define the two education groups as. Those with less than or
equal to12 years of education and those with more.



